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HW QUIZ Review key will be in this notes file online for tonight

Graphs Homework Answers
Left: L 2x-By+5=0
N y=—%x+4 2. 3xs10ys3220 Worksheet 1A
B.y=x-2(iffy - A

y=x-2(iffy-sorry) x+y s A0 Read through the
ianma 5 4 x-2yelt beginning of your

L y==x+

2
B. y=-3x+2 B, x—8y§50 notes
; o
Right: 6. 4x+3y+13=0 You need a %_O\)\éff%‘)
o?;\\,\oo‘v

A y=4 7. 4x-5y+29=0 'l'extbook 'l;qd%‘&i@‘\'\ 0"8
B. x=4 ?3‘

: 8. 2x-y-10:=0 W"’

\NG

Aug 22-8:53 AM
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Behavior of Functions
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You will need a book for the notes today

Sep 8-4:23 PM

Increasing = a function fis increasing on an interval if, for any 2 points in the interval,
)( positive change in x results in a positive change for f(x)

Decreasing - a function fis decreasing on c?% interval if, for any 2 points in the interval,
* a positive change in x results in a negative change for f(x)

Constant = a function fis constant on c%in’rervcl if, for any 2 pointsin the interval, a
7( positive change in x results in a zero change in f(x)

Relative Maximum = of function fis a value f(c) that is 2 all range values of f on some

U) VA.QVQ interval containing c.

Relative Minimum - of function fis a value f(c) that is £ all range values of f on some

b v d“‘L interval containing c.

Aug 12-2:13 PM
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/ /’\
In text, pg 130: 1 -5 odds
a. increasing b. decreasing C. constant

LGS0 (3 5) C1,3)
265,71 (3S) (1, 2) (—s -3)

C IR ~%.-6) (-6~3)
> 3,2 Ga, o)

Sep 8-7:34 PM

Sketch the following. Determine where increasing, decreasing, constant. Find any relative
max or min.

. f(x)=x%-2x+3

Rel Min: Q\ Q’F X:’ ( —_ +
Rel Max: Ny N
Decreasing: (-0, | D 2 T
Incr'e,asing:(})oo) — o 7 » OO
Constant:

NoNL_

Sep 9-7:32 AM
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2. f(x) = .bx? - 3x

Rel Min: %> o . [‘( \
Rel Max:a 85at7" L/ l
Decreasing:(=/4/.4)

ncreasing:co9-T-
Congfany’ Ll.‘l/,of’)
nohL

Sep 9-7:31 AM
3. f(x) = |x| + [x+2] 4
Rel Min:gx @M—‘— /!
Rel Max: hon&
Decreasing: (@, -2) 4
Increasing: (O, c@) L oo
Constant: (=X, 0) oG —1 >
Z - L O
ya \ J

Sep 9-7:31 AM
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4. Some firgwarks are fired vertically into the air from the ground at an initial velocity
of §0 feet pey second. The height of the fireworks, H(x), can be modeled by the
equafion H(x) = -16x* + 80x, where x is the time in seconds after the fireworks
were launched.

Use your graphing calculator to find the highest point reached by the projectile as it
explodes.
o N o P

Window: ,\’& +I = "‘%‘}\ﬁ:&j “—:\—ﬁ.
Xmin — (O Z )&Z{%f%)
Xmax /O N
Ymin — S 0 g /w
Ymax /60 /-r)~ ' )

@

7 \
Sep 9-7:31 AM

From your ftext, pg 131: 27

The temperature of a patient during an illness is given by the

function: T(t) = -0.1t° + 1.2t + 98.6, where 1: [0, 12], T is the

temperature, in degrees Fahrenheit, at time t, in days after the

onset of the illness.

a. Graph the function. b. Use the MAXIMUM feature to

Window determine at what time the patient's
Xmin 3;\ temperature was the highest. What
|
Xmax s the highest temperature? 4,/
ymin O 2nd éﬁq&
—

Ymax (20 {{ g = [0+~

T > . dayS Ag7)0( / //MDQ

P b 41 +:s W bl
e P“"’MM,M M@

Sep 12-4:17 PM
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Quiz

rsS

Sep 15-10:39 AM

1. Given the points A(-4, 5) and B(1, -5) find the midpoint.

= ) -5 -
mid (3, 32) <(£0) |
2 =% R
2. Write the equation of acir‘cle(vﬁ’ril:fi.i\age'remf Eeﬁhrough’rh(:poinfs (4,5) and (-2, 8).( ) Ce)
midpoint = (1, 13/2)=Chk) (x- 1)+ (y-d32)>=r
(x-1)2+ (y-13/2)2=45/4 (4-1)+ (5'%3(1_25)@2 =2
3‘,9‘{+ 9/4 = r?

r* = 45/4

Sep 15-10:08 AM
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3. Write the equation of a circle with center (-5, 3) and r'adfus(3~,f‘2} =/X

(x+5)+(4-9= /8

4.  Write the equation of a line in glope-intercept and standard form that passes through the point
(-3.5) and is parallel 1'0 the line 2x-3y-7=0.

m: — 3”:- ZX-

24,3\ BT
lguf)--ltsi(zxxgb Sorrd: 2 3+21=0

Sope-int = TKH]

Sep 15-10:08 AM

5. Writethe equationof a line in slope-intercept and point -slope form that passes through the

":o-mfsﬂdcsq o y]= -‘I(x 3) or g+8——7(X+@
3E a7 g

6. Writean equation of a line perpendicular to the line 2y = 4x - 10 that passes through the point

(-4,5). nO{U_moikid- Goeasy L?(J 2X- 6
-5 - (X 4) —\-mz_"z

-—6
A AR

Sep 15-10:09 AM
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somans 1.-3,2,71,31

7.  State the domain and range of the function, g: {(-3, 1), (2, -B), (-1, -1), (3, 1)}

Range: _{, )-5,-I}

£ each X-value (421

How do you determine from a given set of poin'lj rhefher‘ or not th

Y one y-va

e 1S a"fnctiin

Sep 18-7:16 AM

8 - 10: Sketchthe function. Find the domainand range.

. Noroube!

8. y=-x*+2x Sketch:

oonan 1] X [RY
e I 2]

Sep 15-10:09 AM
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10.

y= V2x—1 p Sketch:

Domain: i .XJXE 2— ! H. ".>ol
X22

Range ">" 0

y= 3x4 1 y.‘g o Sketch:

- |
o X2 X3

Sep 15-10:09 AM

11. Given: f(x)= x*>-3x+ 4, find

o f2eld-b+¥=72 b, #2)= Y+b+Y
- 1t
(a-1)@-1)

c. fla-1)=
(a-1y - 3-1)*+4
= 02041 -304+3+4¢

-0*-S0+%

Sep 15-10:09 AM
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Sep 10-9:28 PM
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